RD SHARMA
Solutions
Class 7 Maths

Chapter 6
Ex 6.1



Q1. Find the values of each of the following :
(i) 13°

(i) 7°

(iii) 3*

Sol:

() 132 =13x13
=169

(i) 7° = 7x7%7
=4

(iii) 3* = 3x3%3x3
=381

Q2. Find the value of each of the following :
0 (=77

(i) (=3)*

(iii) (=5)°

Sol:

We know that if “a’ is a natural number, then
(—a)even number — ositive number

(_a)Odd number _ negative number

We have,

(i) (=72 =) %¢-7)

=49

(i) (=3)* = (:3) X(-3) X(-3) *(-3)
=81

(iii) (=5)° = (-5) X(-3) X(-5) X(-5) X(-5)
=-3125

Q3. Simply :

i3 x 102

(i) 22 x 5°

(iii) 33 x 52

Sol:

()3 x 10% =3x10%10
=3%100

=300

(i) 2% x 5% =2x2x5%5x%5
=4x125

=500

(iii) 3% x 5% = 3x3x3x5%5
=27%25

=675

Q4. Simply :



@3> x 10*

@i 2* x 32

(i) 57 x 3*

Sol:

() 3% % 10* =3x3x10%10x10%10
=9x10000

=90000

(ii) 2% x 32 =2x2x2x2%3%3
= 16%9

=144

(iii) 5% x 3% = 5x5x3%x3x3x3
=25%81

=2025

Q5. Simply :
@) (-2) x (-3)’

(i) (=3)* x (=5)°
(@iii) (-2)° x (—10)?

Sol:

(i) (=2) ¥ (=3)° = (-2) X(-3) X(-3) X(-3)

=(-2) X(-:27)

=54

(if) (=3)% x (=5)% =(-3) X(-3) X(-5) X(-3) X(-5)
=9%(-125)

=-1125

(i) (=2)° x (=10)* = (-2) X(-2) X(-2) X(-2) X(-2) X(-10) X(-10)
=(-32) X 100
=-3200

Q6. Simply :
0 (37
(i) (=)

(i) (=)°

Sol:
. 3 3x3
i) (=
=9
16
.. -2 (=2)x(=2)*(=2)*(=2)
(i) ()t = 2
_ 16
)
=4 (—4)*(—4)<(—4)* (—4) <(—4)
(iif) (T)S - 5575%5+5
_ -1024
3125

Q7. Identify the greater number in each of the following



(i) 2° or 5

(ii) 3t or 4

(i) 3° or 5°

Sol:

() 2% or 5°

=>2% =2x2x2x2x2
=32

=52 =5x%5

=25

Therefore, 2° > 52
(i) 3% or 4°

= 3% =3x3x3x3
=81

= 43 = 4x4x4
=64

Therefore, 3* > 43
(iii) 3% or 5°
=35 = 3x3x3%x3%3
=243

=53 =5x5x5
=125

Therefore, 35

Q8. Express each of the following in exponential form
() (-5) X (-5) X(-5)

(ii)(%sx;xixi)

o444
X2 X 2X
(m)(3 3 %3

[
X
SFS
S—"

Sol:

(i) (-5) X(-5) X(-5) = (=5)

(i) (5 % 5 % 5 % )= (5"

44
(iii) (5 * 5 %

[O] =N

4.4 4.5
x3x3)=(3)

Q9. Express each of the following in exponential form
(i) x Xx Xx Xx Xa Xa Xb Xb Xb

(i) (-2) X(-2) X(2) X(:2) xaxaxa

(iii) (=) % (S2) X X X XX X

Sol:

(i) x Xx Xx Xx Xa Xa xb xb xb =x*a’b’

(if) (-2) X(-2) X(-2) X(-2) xaxaxa = (2)"a’

(iii)(_Tz)X(_3_2)xx><x><xz(_Tz)2X3

Q10. Express each of the following numbers in exponential form

(i) 512



(i) 625
(iii) 729

Sol:
(i)512=2°
(iii) 625 = 5*

(iii) 729 = 3°

Q11. Express each of the following numbers as a product of powers of their prime factors
(i) 36

(ii) 675

(iii) 392

Sol:

()36=2%x2x3x3

= 22 X 32
(ii)675=3x3x 3 x 5% 5
=33 x52
(ii)392=2x2x2x7x7
=23 x 7?2

Q12. Express each of the following numbers as a product of powers of their prime factors
(i) 450

(i) 2800

(iii) 24000

Sol:

(1)450=2x3x3x5x35

=2x32x52

(i)2800=2x2x2x2x5x5x7

=24x52x7

(1i1) 24000 =2 X 2 x 2 X 2 x 2 x 2 x 3 x §5x5x5

=25%x3x53
Q13. Express each of the following as a rational number of the form %
o332
M (2)
NNAY
(i) (5’
(ii) (=)
J>
Sol:
N 33\2 3x3
M) (5) ==
_9
9
- 7N\3 Tx7x7
(i) () = 555
_ 343
)
e =24 (C2XE2)X(E2)X(2)
(iii) (57)" = 33353
16

)
—_



Q14. Express each of the following rational numbers in power notation

« 49
O =
(i)~ 35
(iii) =512
Sol:

. 49 72
(l) [ :(§)

2 _ 2 _
Because 7° =49 and 8 = 64
L6 43
(11)_m= _g)

3 _ 3_ -
Because 4 =64 and 5° =125
1 143
(111)—m= —E)J

Because 1° = 1 and 6° =216

Q15. Find the value of the following

Lol 3.3
(l)(T)z x 27 x (1)2
.73 4 -15
(i) () =< () < (55)°
Sol:

NmlN2 A3 32 9
(H(5)"x2 X(z) =5 %X8x =
-2
T8

—15 81 256 225 64

BN 4N 2_ _
(i) (57)" > (5)" < (557)" = 535 * G3eT * 34 18223

Q16. If a=2 and b = 3, the find the values of each of the followimg
@) (a+b)"

(ii) (ab)®

(iii) (£)°

) (2 + 2

Sol:

(i) (a+b)*=(2+3)
=(5)

=25

(i) (ab) = (2 x 3)?
= (6

=216

(i) (2)° = (3’

N
oo 3

@+ =(3+3)

169
36



